ON THE REAL-VALUED GENERAL SOLUTIONS OF THE D'ALEMBERT EQUATION WITH INVOLUTION

JAEYOUNG CHUNG[™], CHANG-KWON CHOI and SOON-YEONG CHUNG

(Received 5 September 2016; accepted 24 September 2016; first published online 23 November 2016)

Abstract

We find all real-valued general solutions $f: S \to \mathbb{R}$ of the d'Alembert functional equation with involution

$$f(x+y) + f(x+\sigma y) = 2f(x)f(y)$$

for all $x, y \in S$, where *S* is a commutative semigroup and $\sigma : S \to S$ is an involution. Also, we find the Lebesgue measurable solutions $f : \mathbb{R}^n \to \mathbb{R}$ of the above functional equation, where $\sigma : \mathbb{R}^n \to \mathbb{R}^n$ is a Lebesgue measurable involution. As a direct consequence, we obtain the Lebesgue measurable solutions $f : \mathbb{R}^n \to \mathbb{R}$ of the classical d'Alembert functional equation

$$f(x + y) + f(x - y) = 2f(x)f(y)$$

for all $x, y \in \mathbb{R}^n$. We also exhibit the locally bounded solutions $f : \mathbb{R}^n \to \mathbb{R}$ of the above equations.

2010 Mathematics subject classification: primary 39B22.

Keywords and phrases: additive function, d'Alembert functional equation, exponential function, general solution, measurable solution, quadratically closed field, real-valued solution.

1. Introduction

Throughout this paper we denote by *S* a commutative semigroup, *G* a commutative group, \mathbb{F} a field and \mathbb{R} , \mathbb{C} and \mathbb{R}^n the sets of real numbers and complex numbers and the *n*-dimensional Euclidean space, respectively. A function $A : S \to \mathbb{F}$ is called *an additive function* provided that A(x + y) = A(x) + A(y) for all $x, y \in S$, $m : S \to \mathbb{F}$ is called *an exponential function* provided that m(x + y) = m(x)m(y) for all $x, y \in S$ and $\sigma : S \to S$ is called *an involution* provided that $\sigma(x + y) = \sigma(x) + \sigma(y)$ and $\sigma(\sigma(x)) = x$ for all $x, y \in S$. For simplicity, we denote $\sigma(x)$ by σx .

The functional equation

$$f(x+y) + f(x-y) = 2f(x)f(y)$$
(1.1)

The first author was supported by the Basic Science Research Program through the National Research Foundation of Korea funded by the Ministry of Education (no. 2015R1D1A3A01019573). The third author was supported by the Basic Science Research Program through the National Research Foundation of Korea funded by the Ministry of Education (no. NRF-2015R1D1A1A01059561).

^{© 2016} Australian Mathematical Publishing Association Inc. 0004-9727/2016 \$16.00

is known as the *d'Alembert functional equation*. It has a long history going back to d'Alembert [6]. This functional equation was introduced by d'Alembert in connection with the composition of forces and plays a central role in determining the sum of two vectors in Euclidean and non-Euclidean geometries [7, 8]. As remarkable results on the d'Alembert functional equation, Cauchy [3] found all the continuous solutions $f : \mathbb{R} \to \mathbb{R}$ of the equation (1.1) (see also [1, page 103]) and Baker [2] found all general solutions $f : \mathbb{R} \to \mathbb{C}$ of the equation (see also [1, page 220]). The general solutions $f : \mathbb{R} \to \mathbb{R}$ of (1.1) are not yet known. Generalising the d'Alembert functional equation, several authors have studied the d'Alembert functional equation with involution

$$f(x + y) + f(x + \sigma y) = 2f(x)f(y)$$
(1.2)

for all $x, y \in S$. Sinopoulos [9] determined the general solutions $f: S \to \mathbb{F}$ of (1.2) when S is a commutative semigroup and \mathbb{F} is a quadratically closed commutative field of characteristic different from 2. Stetkær [10] studied (1.2) when $\mathbb{F} = \mathbb{C}$, S is a commutative topological group and f and σ are continuous. Recently, Chung [5] found the locally integrable solutions $f : \mathbb{R}^n \to \mathbb{C}$ of the equation (1.2) defined in an almost everywhere sense. However, in all the previous results, the authors assumed that the target space of f is a quadratically closed commutative field; therefore, it is not possible to exhibit the real-valued general solutions of the equations (1.1) and (1.2). The author is not aware of any results on the real-valued general solutions of the d'Alembert functional equation (1,1) and its generalisation (1,2). In this paper we exhibit all real-valued general solutions of the d'Alembert functional equation with involution (1.2) and obtain those of (1.1) as a direct consequence. Based on the result, we also prove that all Lebesgue measurable solutions $f : \mathbb{R}^n \to \mathbb{R}$ of the equation (1.2) with measurable involution σ are given by $f(x) = \frac{1}{2}(e^{a \cdot x} + e^{a \cdot \sigma x})$ or $f(x) = e^{c \cdot x} \cos(b \cdot x)$ for some $a, b, c \in \mathbb{R}^n$ with $c\sigma = c$, $b\sigma = -b$. As a direct consequence, we obtain the Lebesgue measurable solutions $f : \mathbb{R}^n \to \mathbb{R}$ of the equation (1.1). This appears to be the first direct method to find the Lebesgue measurable solutions of the equations (1.1)and (1.2) (see, for example, [4] for the locally integrable solutions of the d'Alembert equation).

2. Main results

We first find the real-valued general solutions of the d'Alembert equation with involution (1.2).

THEOREM 2.1. A nonzero function $f : S \to \mathbb{R}$ satisfies d'Alembert's functional equation with involution (1.2) for all x, y in S if and only if f has one of the following forms:

$$f(x) = \frac{m(x) + m(\sigma x)}{2}, \quad f(x) = E(x)\cos B(x)$$
 (2.1)

for all $x \in S$, where $m, E : S \to \mathbb{R}$ are exponential functions and E and $B : S \to \mathbb{R}$ satisfy $E(\sigma x) = E(x)$ for all $x \in S$, $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in S \setminus K$ and $B(\sigma x) \equiv -B(x) \pmod{2\pi}$ for all $x \in S \setminus K$ with $K = \{x \in S : E(x) = 0\}$. **PROOF.** Replacing y by σy in (1.2) and equating the right-hand sides of the result and (1.2) yields

$$f(x) = f(\sigma x) \tag{2.2}$$

for all $x \in S$. Now we divide the equation into two cases.

Case 1. Suppose that $f(x + \sigma y) = f(x + y)$ for all $x, y \in S$. Then the equation (1.2) reduces to the exponential functional equation f(x + y) = f(x)f(y). Let f(x) = m(x) for some exponential function *m*. By (2.2), $m(\sigma x) = m(x)$ for all $x \in S$ and *f* has the first form of (2.1).

Case 2. Suppose that $f(x_0 + \sigma y_0) \neq f(x_0 + y_0)$ for some $x_0, y_0 \in S$. Let

$$g(x) = f(x + y_0) - f(x + \sigma y_0)$$
(2.3)

for all $x \in S$. Then $g(x_0) \neq 0$ and, by (2.2),

$$g(\sigma x) = -g(x) \tag{2.4}$$

for all $x \in S$. From (1.2) and (2.3),

$$g(x + y) + g(x + \sigma y) = f(x + y + y_0) - f(x + y + \sigma y_0) + f(x + \sigma y + y_0) - f(x + \sigma y + \sigma y_0) = 2f(x + y_0)f(y) - 2f(x + \sigma y_0)f(y) = 2g(x)f(y)$$
(2.5)

for all $x, y \in S$. Replacing (x, y) by (y, x) in (2.5), adding the result and (2.5) and using (2.4) yields

$$g(x + y) = g(x)f(y) + f(x)g(y)$$
(2.6)

for all $x, y \in S$. Replacing y by y + z in (2.6) and then using (2.6),

$$g(x + y + z) = g(x)f(y + z) + f(x)g(y + z)$$

= g(x)f(y + z) + f(x)g(y)f(z) + f(x)f(y)g(z) (2.7)

for all $x, y, z \in S$. Again replacing (x, y) by (x + y, z) in (2.6) and using (2.6),

$$g(x + y + z) = g(x + y)f(z) + f(x + y)g(z)$$

= g(x)f(y)f(z) + f(x)g(y)f(z) + f(x + y)g(z) (2.8)

for all $x, y, z \in S$. From (2.7) and (2.8),

$$g(x)[f(y+z) - f(y)f(z)] = g(z)[f(x+y) - f(y)f(x)]$$
(2.9)

for all $x, y, z \in S$. Inserting $z = x_0$ in (2.9) yields

$$g(x)[f(y+x_0) - f(y)f(x_0)] = g(x_0)[f(x+y) - f(y)f(x)],$$

which reduces to

$$f(x+y) - f(y)f(x) = g(x)h(y),$$
(2.10)

262

where

$$h(y) = \frac{f(y+x_0) - f(y)f(x_0)}{g(x_0)}$$
(2.11)

for all $y \in S$. If we interchange x and y in (2.10),

$$f(y+x) - f(x)f(y) = g(y)h(x)$$

and, by comparing this equation to (2.10),

$$g(x) h(y) = g(y) h(x)$$

for all $x, y \in S$. Therefore,

$$h(x) = \alpha^2 g(x) \tag{2.12}$$

for all $x \in S$ and for some constant

$$\alpha \in \mathbb{R}$$
, or $\alpha = i\beta$ with $\beta \in \mathbb{R}$.

Substituting (2.12) in (2.10) yields

$$f(x + y) = f(x)f(y) + \alpha^{2}g(x)g(y)$$
(2.13)

for all $x, y \in S$. If $\alpha = 0$, then (2.13) becomes

$$f(x+y) = f(x)f(y)$$

for all $x, y \in S$ and we return to the first case. Thus, it remains to consider the case $\alpha \neq 0$. Multiplying (2.6) by α yields

$$\alpha g(x+y) = \alpha g(x)f(y) + \alpha f(x)g(y). \tag{2.14}$$

Adding (2.14) to (2.13) and simplifying the resulting equation gives

$$f(x + y) + \alpha g(x + y) = [f(x) + \alpha g(x)][f(y) + \alpha g(y)]$$
(2.15)

for all $x, y \in S$. Similarly, subtracting (2.14) from (2.13) yields

$$f(x + y) - \alpha g(x + y) = [f(x) - \alpha g(x)][f(y) - \alpha g(y)]$$
(2.16)

for all $x, y \in S$.

Subcase 2.1. Suppose that $\alpha \in \mathbb{R}$. From (2.15) and (2.16), both $m_1 := f + \alpha g$ and $m_2 := f - \alpha g$ are real-valued exponential functions. Since *f* is σ -even and *g* is σ -odd, $m_1(\sigma x) = f(\sigma x) + \alpha g(\sigma x) = f(x) - \alpha g(x) = m_2(x)$. Letting $m_1 := m$,

$$f(x) = \frac{m(x) + m(\sigma x)}{2}$$
 (2.17)

for all $x \in S$. Thus, we get the first solution of (2.1).

Subcase 2.2. Suppose that $\alpha = i\beta$ with $\beta \in \mathbb{R}$. Let

$$m^*(x) = f(x) + i\beta g(x)$$
 (2.18)

[4]

for all $x \in S$. Then, from (2.15), m^* is a complex-valued exponential function. Let $E(x) = |m^*(x)|$ for all $x \in S$ and $K = \{x \in S : E(x) = 0\}$. Then *E* is a real-valued exponential function and m^* can be written in the form

$$m^*(x) = E(x)e^{iB(x)},$$
 (2.19)

where $B: S \to \mathbb{R}$ takes a value of $\arg m^*(x)$ for each $x \notin K$ and B(x) takes arbitrary values for all $x \in K$. Since m^* and E are exponential functions, it follows from (2.19) that $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in S \setminus K$ (see [1, page 54] for $S = \mathbb{R}$). Then, from (2.18) and (2.19),

$$f(x) = \Re(m^*(x)) = E(x) \cos B(x)$$
(2.20)

for all $x \in S$. On the other hand, since

$$m^*(\sigma x) = f(\sigma x) + i\beta g(\sigma x) = f(x) - i\beta g(x)$$
(2.21)

for all $x \in S$, from (2.18), (2.19) and (2.21),

$$f(x) = \frac{m^*(x) + m^*(\sigma x)}{2} = \frac{1}{2} (E(x)e^{iB(x)} + E(\sigma x)e^{iB(\sigma x)})$$

= $\frac{1}{2} (E(x)\cos B(x) + E(\sigma x)\cos B(\sigma x))$
+ $\frac{i}{2} (E(x)\sin B(x) + E(\sigma x)\sin B(\sigma x))$ (2.22)

for all $x \in S$. Equating (2.20) and (2.22),

$$E(x)\cos B(x) = E(\sigma x)\cos B(\sigma x), \qquad (2.23)$$

$$E(x)\sin B(x) = -E(\sigma x)\sin B(\sigma x)$$
(2.24)

for all $x \in S$. Using (2.23) and (2.24),

$$E(x)^{2} = E(x)^{2} \cos^{2} B(x) + E(x)^{2} \sin^{2} B(x)$$
$$= E(\sigma x)^{2} \cos^{2} B(\sigma x) + E(\sigma x)^{2} \sin^{2} B(\sigma x) = E(\sigma x)^{2}$$

for all $x \in S$, which implies that $E(x) = E(\sigma x)$ for all $x \in S$. Thus, from (2.23) and (2.24),

$$\cos B(x) = \cos B(\sigma x) = \cos(-B(\sigma x)), \qquad (2.25)$$

$$\sin B(x) = -\sin B(\sigma x) = \sin(-B(\sigma x)) \tag{2.26}$$

for all $x \in S \setminus K$. From (2.25) and (2.26), it follows that $B(\sigma x) = -B(x) \pmod{2\pi}$ for all $x \in S \setminus K$. Thus, we get the second solution of (2.1). The proof is complete. \Box

Let S = G in Theorem 2.1. The nonzero exponential functions $m, E : G \to \mathbb{R}$ in Theorem 2.1 can be written in the form $m(x) = e^{A(x)}$, $E(x) = e^{C(x)}$ for some additive functions $A, C : G \to \mathbb{R}$ and $K := \ker E = \emptyset$. Thus, as a direct consequence of Theorem 2.1, we obtain the following corollary.

COROLLARY 2.2. A nonzero function $f : G \to \mathbb{R}$ satisfies the d'Alembert functional equation with involution (1.2) for all x, y in G if and only if f has one of the following forms:

$$f(x) = \frac{e^{A(x)} + e^{A(\sigma x)}}{2}, \quad f(x) = e^{C(x)} \cos B(x)$$
(2.27)

for all $x \in G$, where $A, C : G \to \mathbb{R}$ are additive functions and C and $B : G \to \mathbb{R}$ satisfy $C(\sigma x) = C(x)$ for all $x \in G$, $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in G$ and $B(\sigma x) \equiv -B(x) \pmod{2\pi}$ for all $x \in G$.

REMARK 2.3. In general, if *S* satisfies the property that for any $x, y \in S$, there exist a positive integer *k* and $z \in S$ such that

$$x + z = ky, \tag{2.28}$$

then the solutions $f: S \to \mathbb{R}$ in (2.1) can be written in the form (2.27). Note that most well-known semigroups such as $S = \langle (0, 1), \times \rangle$ and $\langle (0, \infty), + \rangle$ satisfy the condition (2.28).

COROLLARY 2.4. A nonzero function $f : G \to \mathbb{R}$ satisfies the d'Alembert functional equation (1.1) for all $x, y \in G$ if and only if f has one of the following forms:

$$f(x) = \cosh A(x), \quad f(x) = \cos B(x)$$
 (2.29)

for all $x \in G$, where $A : G \to \mathbb{R}$ is an additive function and $B : G \to \mathbb{R}$ satisfies $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in G$.

PROOF. Let $\sigma(x) = -x$ for all $x \in G$ in Corollary 2.2. Then the condition $C(\sigma x) = C(x)$ for all $x \in G$ implies that C = 0, and the condition $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in G$ implies that $B(-x) \equiv -B(x) \pmod{2\pi}$ for all $x \in G$. Thus, we get the solutions (2.29). The proof is complete.

Now we find the Lebesgue measurable solutions of the equation (1.2).

COROLLARY 2.5. Let $\sigma : \mathbb{R}^n \to \mathbb{R}^n$ be a Lebesgue measurable involution. Then a nonzero Lebesgue measurable function $f : \mathbb{R}^n \to \mathbb{R}$ satisfies the d'Alembert functional equation (1.2) for all $x, y \in \mathbb{R}^n$ if and only if f has one of the following forms:

$$f(x) = \frac{e^{a \cdot x} + e^{a \cdot \sigma x}}{2}, \quad f(x) = e^{c \cdot x} \cos(b \cdot x)$$
(2.30)

for all $x \in \mathbb{R}^n$, where $a, b, c \in \mathbb{R}^n$ with $c \cdot \sigma x = c \cdot x$ and $b \cdot \sigma x = -b \cdot x$ for all $x \in \mathbb{R}^n$.

PROOF. Let $G = \mathbb{R}^n$ in Corollary 2.2 and consider the first solution of (2.27). If $A(x) = A(\sigma x)$ for all $x \in \mathbb{R}^n$, then we get $f(x) = e^{A(x)}$ and hence A is Lebesgue measurable. If $A(x_0) \neq A(\sigma x_0)$ for some $x_0 \in \mathbb{R}^n$, then we can choose $\alpha \in \mathbb{R}$ such that $\alpha(e^{A(x_0)} - e^{A(\sigma x_0)}) = 1$. Then it follows from $f(x) = \frac{1}{2}(e^{A(x)} + e^{A(\sigma x)})$ that

$$f(x) + \alpha(f(x + x_0) - f(x + \sigma x_0)) = e^{A(x)}$$
(2.31)

for all $x \in \mathbb{R}^n$ and hence A is Lebesgue measurable. Thus, in both cases we have $A(x) = a \cdot x$ for some $a \in \mathbb{R}^n$. Thus, we obtain the first solution of (2.30).

Now we consider the second solution of (2.28). Let $g(x) = e^{C(x)+iB(x)}$. If $\sin B(x) = 0$ for all $x \in \mathbb{R}^n$, then $g(x) = e^{C(x)} \cos B(x) = f(x)$ and g is Lebesgue measurable. If $\sin B(x_0) \neq 0$ for some $x_0 \in \mathbb{R}^n$, choose $\alpha \in \mathbb{R}$ such that $-2\alpha e^{C(x_0)} \sin B(x_0) = 1$. Then it follows from $f(x) = e^{C(x)} \cos B(x)$ that

$$f(x) + i\alpha(f(x + x_0) - f(x + \sigma x_0)) = e^{C(x) + iB(x)}$$
(2.32)

for all $x \in \mathbb{R}^n$. Thus, *g* is Lebesgue measurable and $|g(x)| = e^{C(x)}$ is also Lebesgue measurable and hence $C(x) = c \cdot x$ for all $x \in \mathbb{R}^n$ and for some $c \in \mathbb{R}$ with $c \cdot x = c \cdot \sigma x$ for all $x \in \mathbb{R}^n$. Now let $h(x) := e^{-c \cdot x} g(x) = e^{iB(x)}$ for all $x \in \mathbb{R}^n$. Then *h* is Lebesgue measurable, satisfying |h(x)| = 1 and

$$h(x + y) = h(x)h(y)$$
 (2.33)

for all $x, y \in \mathbb{R}^n$. Choosing an infinitely differentiable function ϕ with compact support and convolving it on both sides of (2.33) as a function of *y*,

$$(h * \phi)(x + z) = \int_{\mathbb{R}^n} h(x + z - y)\phi(y) \, dy$$

= $h(x) \int_{\mathbb{R}^n} h(z - y)\phi(y) \, dy = h(x)(h * \phi)(z)$ (2.34)

for all $x, z \in \mathbb{R}^n$. From the condition |h(x)| = 1 for all $x \in \mathbb{R}^n$, we can choose ϕ so that $h * \phi \neq 0$, otherwise we must have h = 0 almost everywhere. Since $h * \phi$ is infinitely differentiable, fixing $z = z_0$ with $(h * \phi)(z_0) \neq 0$ in (2.34), we see that h is infinitely differentiable. Letting $y = (y_1, \dots, y_n)$ and differentiating (2.33) with respect to y_1 and putting y = 0,

$$\partial_1 h(x) = c_1 h(x), \tag{2.35}$$

where $c_1 = \partial_1 h(0)$. The solutions of the differential equation (2.35) are given by

$$h(x_1, \dots, x_n) = h_1(x_2, \dots, x_n)e^{c_1 x_1}.$$
(2.36)

Putting (2.36) in (2.33),

$$h_1(x' + y') = h_1(x')h_1(y')$$
(2.37)

for all $x' = (x_2, ..., x_n)$, $y' = (y_2, ..., x_n)$. Differentiating (2.37) with respect to y_2 and putting y' = 0, we get $\partial_2 h_1(x') = c_2 h_1(x')$ with $c_2 = \partial_2 h(0)$ and

$$h(x_1,\ldots,x_n) = h_1(x_2,\ldots,x_n)e^{c_1x_1} = h_2(x_3,\ldots,x_n)e^{c_2x_2+c_1x_1}.$$

Continuing the above process, we arrive at $h(x) = ke^{c_1x_1+\dots+c_nx_n}$ for some $k \in \mathbb{C}$. Since |h(x)| = 1 for all $x \in \mathbb{R}^n$, we have $c_j = ib_j$ for some $b_j \in \mathbb{R}$, $j = 1, 2, \dots, n$. Using h(0) = 1, we get k = 1. Thus, it follows from (2.32) that

$$f(x) = \Re g(x) = e^{c \cdot x} \Re h(x) = e^{c \cdot x} \cos(b \cdot x)$$

with $b = (b_1, \ldots, b_n)$. Finally, we prove that $b \cdot \sigma x = -b \cdot x$ for all $x \in \mathbb{R}^n$. Let $B(x) = (b \cdot \sigma x + b \cdot x)/(2\pi)$ for all $x \in \mathbb{R}^n$. Then, by Corollary 2.2, $B(x) \in \mathbb{Z}$, the set of integers, for all $x \in \mathbb{R}^n$. Thus, for each $x_0 \in \mathbb{R}^n$, we have $B(2^{-n}x_0) = 2^{-n}B(x_0) \in \mathbb{Z}$ for all positive integers *n*, which implies that $B(x_0) = 0$. Therefore, B(x) = 0 for all $x \in \mathbb{R}^n$. The proof is complete.

REMARK 2.6. Note that every measurable involution $\sigma : \mathbb{R}^n \to \mathbb{R}^n$ is given by an $n \times n$ matrix. It follows directly from Corollary 2.5 that all *continuous real-valued solutions* $f : \mathbb{R}^n \to \mathbb{R}$ of the equation (1.2) are given by (2.30). Note that all *locally bounded real-valued solutions* of the most well known functional equations are regular. For example, all locally bounded solutions $f, g : \mathbb{R}^n \to \mathbb{R}$, $h : \mathbb{R} \setminus \{0\} \to \mathbb{R}$ and $k : (0, \infty) \to \mathbb{R}$ of the Cauchy functional equation f(x + y) = f(x) + f(y), the exponential functional equation g(x + y) = g(x)g(y), the logarithmic functional equation h(xy) = h(x) + h(y) and the multiplicative functional equation k(xy) = k(x)k(y) are given by the regular functions,

$$f(x) = a \cdot x$$
, $g(x) = e^{a \cdot x}$, $h(x) = p \ln x$, $k(x) = x^p$

for some $a \in \mathbb{R}^n$ and $p \in \mathbb{R}$. However, not every *locally bounded real-valued solution* of the equation (1.2) is of the regular form (2.30). Indeed, we have the following result.

COROLLARY 2.7. Let $\sigma : \mathbb{R}^n \to \mathbb{R}^n$ be a Lebesgue measurable involution. Then a nonzero locally bounded function $f : \mathbb{R}^n \to \mathbb{R}$ satisfies the d'Alembert functional equation (1.2) for all $x, y \in \mathbb{R}^n$ if and only if f has one of the following forms:

$$f(x) = \frac{e^{a \cdot x} + e^{a \cdot \sigma x}}{2}, \quad f(x) = e^{c \cdot x} \cos B(x)$$
(2.38)

for all $x \in \mathbb{R}^n$, where $a, c \in \mathbb{R}^n$ with $c \cdot \sigma x = c \cdot x$, $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in \mathbb{R}^n$ and $B(\sigma x) \equiv -B(x) \pmod{2\pi}$ for all $x \in \mathbb{R}^n$.

PROOF. It follows from (2.31) and (2.32) that $e^{A(x)}$ and $e^{C(x)}$ are locally bounded, which implies that *A* and *C* are bounded above. Thus, *A*, *C* are of the form $A(x) = a \cdot x$, $C(x) = c \cdot x$ for some $a, c \in \mathbb{R}$ and we get the solutions (2.38).

As a direct consequence of Corollaries 2.4 and 2.7, we obtain the following result.

COROLLARY 2.8. A nonzero locally bounded function $f : \mathbb{R}^n \to \mathbb{R}$ satisfies the d'Alembert functional equation (1.1) for all $x, y \in \mathbb{R}^n$ if and only if f has one of the following forms:

$$f(x) = \cosh(a \cdot x), \quad f(x) = \cos B(x) \tag{2.39}$$

for all $x \in \mathbb{R}^n$, where $a \in \mathbb{R}^n$ and $B(x + y) \equiv B(x) + B(y) \pmod{2\pi}$ for all $x, y \in \mathbb{R}^n$.

As a direct consequence of Corollary 2.5, we obtain the following result.

COROLLARY 2.9. A nonzero measurable function $f : \mathbb{R}^n \to \mathbb{R}$ satisfies the d'Alembert functional equation (1.1) for all $x, y \in \mathbb{R}^n$ if and only if f has one of the following forms:

$$f(x) = \cosh(a \cdot x), \quad f(x) = \cos(b \cdot x) \tag{2.40}$$

for all $x \in \mathbb{R}^n$ and for some $a, b \in \mathbb{R}^n$.

PROOF. Let $\sigma(x) = -x$ for all $x \in \mathbb{R}^n$ in Corollary 2.5. Then the condition $c \cdot \sigma x = c \cdot x$ for all $x \in \mathbb{R}^n$ implies that c = 0. Thus, we get the solution (2.40).

References

- [1] J. Aczél and J. Dhombres, *Functional Equations in Several Variables* (Cambridge University Press, New York–Sydney, 1989).
- [2] J. A. Baker, 'The stability of the cosine equation', Proc. Amer. Math. Soc. 80 (1980), 411-416.
- [3] A. L. Cauchy, Cours d'analyse de l'ecole royale polytechnique, Vol. 1. Analyse algebrique, V (Paris, 1821).
- [4] J. Chung, 'Distributional method for the d'Alembert equation', Arch. Math. 85 (2005), 156–160.
- [5] J. Chung, 'Distributional solutions of Wilson's functional equations with involution and their Erdös' problem', *Bull. Korean Math. Soc.* 53 (2016), 1157–1169.
- [6] J. d'Alembert, 'Addition au mémoire sur la courbe que forme une corde tendue mise en vibration', *Hist. Acad. Berlin* 6 (1750), 355–360.
- [7] S.-M. Jung, *Hyers–Ulam–Rassias Stability of Functional Equations in Nonlinear Analysis* (Springer, New York, 2011).
- [8] P. K. Sahoo and Pl. Kannappan, *Introduction to Functional Equations* (CRC Press, Boca Raton, FL, 2011).
- [9] P. Sinopoulos, 'Functional equations on semigroups', Aequationes Math. 59 (2000), 255–261.
- [10] H. Stetkær, Functional Equations on Groups (World Scientific, Singapore, 2013).

JAEYOUNG CHUNG, Department of Mathematics, Kunsan National University, Gunsan 54150, Republic of Korea e-mail: jychung@kunsan.ac.kr

CHANG-KWON CHOI, Department of Mathematics, Chonbuk National University, Jeonju 54896, Republic of Korea e-mail: ck38@jbnu.ac.kr

SOON-YEONG CHUNG, Department of Mathematics, Sogang University, Seoul 04107, Republic of Korea e-mail: sychung@ccs.sogang.ac.kr

268

[9]